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w=25.0% ���������� "!$#&%�'(%)�+*-,/.1032346587 ρt=1.75 t/m3 *�9+:<;�=(.?>�@�;A#B'
%15BC Dc=94.6% D�E�F3�?G
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!NM�O3PRQ1S
(2) #T'(%1UV.1W6X35Y!NZ�O�PRQ?S
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(1) u?v�;)#w%3'(%��3 6.)K)L3465Y!NxV%8`mG

ρd =
ρt

1 + w
=

1.75

1 + 0.25
= 1.40 (t/m3)

#&'(%15V.)y�z�;
Dc =

ρd

ρdmax

Q&:<;
ρdmax

=
ρd

Dc

=
1.40

0.946
= 1.48 (t/m3)

(2) u?v�;)#&'(%/�� �.({�| � !NxB%�`mG

e =
ρs

ρd

− 1 =
2.66

1.40
− 1 = 0.900

u���;6 1\"] ��} C); Gs = ρs/ρw = 2.66/1.0 = 2.66 Q&:<;

Sr =
wGs

e
=

25.0 × 2.66

0.900
= 73.9 (%)


